
次の式を簡単にせよ。 

(1)  6666  

(2) 
16

2207

1
2207

1
2207




  

（解） 

(1) x 6666 とおくと， xx  666662   

062  xx  

   023  xx  

0x より 

∴ 3x ･･･（答） 

(2) x





16
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1
2207

1
2207



とおくと， 1

2207

1
2207

1
220716 








x である。 

  1616

16 1

22072207

1

2207

1
2207

1
2207

xx
x 











より 

012207 1632  xx  

2

422072207 2
16 
x  

116 x より 

16888444
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16

2
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4
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2
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2
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4

59214

2
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2
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4
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2
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2
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4
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2
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∴
2

51
x ･･･（答） 

（2015/8/4 時岡） 


